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QUESTION 1

What is the maximum speed of a single EICON adapter in 3957-VFJ7 running R2.1 microcode?
A. 2 Gbps

B. 4 Gbps

C. 8 Ghps

D. 16 Gbps

Correct Answer: B

QUESTION 2

In a TS3500 with ALMS enabled, which task can be completed by using the operator panel only, but not by using the
Tape Library Specialist Web interface?

A. Create or remove a logical library

B. View or change the preferred zone of an accessory

C. Disabling or changing the speed of the Ethernet link

D. Installing licensed features of the library such as capacity on demand

Correct Answer: C

QUESTION 3

What is the key advantage of the IBM TS7720 over the EMO DLm?
A. Larger maximum capacity

B. Virtual drive scalability up to 256

C. Supports bi-directional replication in a grid

D. Deduplication which does not use hashing algorithms

Correct Answer: C

QUESTION 4

Which company is a key competitor to IBM in the enterprise tape area?
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A. HP

B. HDS
C. Oracle
D. Quantum

Correct Answer: C

QUESTION 5

To what value should the missing interrupt handler (MIH) be set for 3592 tape drives?

A. 93 minutes

B. 39 minutes

C. Auto set by the system
D. set explicitly to "disabled"

Correct Answer: C
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